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Fact Families (Addition & Subtraction) Name:
Deter mine which letter best representsthe missing fact from the fact family. Answers
1) 1+23=24 2) 186+ 250 =436 3) 7+12=19
23+1=24 250 + 186 = 436 12+7=19 1
24-1=23 436 - 186 = 250 19-7=12
2.
A.25-23=2 A. 250 - 436 = 186 A.12-19=7
B.24-23=1 B. 436 - 250 = 186 B.31-7=24 3.
C.24+23=47 C.436-186=186 C.19-12=7
D.2+23=25 D. 437 - 250 = 187 D.8+12=20 4,
5.
4) 87+4=01 5) 265+ 304 =569 6) 17+2=19
4+87=91 304 + 265 = 569 2+17=19 6.
91-87=4 569 - 265 = 304 19-17=2
7.
A.91-4=87 A. 569 + 304 = 873 A.21-17=4
B.95-87=8 B. 304 - 569 = 265 B.2+19=17 8.
C.91-87=87 C. 304 + 569 = 265 C.20-2=18
D.91-4=4 D. 569 - 304 = 265 D.19-2=17 9.
10.
7) 72+10=82 8) 153+ 704 =857 9 17+1=18
10+72=82 704 + 153 = 857 1+17=18 1.
82-72=10 857 - 153 = 704 18-17=1
12.
A.72+82=10 A. 857 - 704 = 153 A.18+1=19
B.10-82=72 B. 153 + 857 = 704 B.17+18=1
C.82-72=72 C. 1561 - 153 = 1408 C.1-18=17
D.82-10=72 D. 857 + 704 = 1561 D.18-1=17
10) 47+13=60 11) 525+ 194 =719 12) 14+5=19
13+ 47 =60 194 + 525 =719 5+14=19
60-47=13 719 - 525 = 194 19-14=5
A.60-13=13 A. 526 + 194 = 720 A.20-5=15
B.61-13=48 B. 194 - 719 = 525 B.19+5=24
C.47+60=13 C.719-194=525 C.24-14=10
D.60-13=47 D. 194 + 719 = 525 D.19-5=14
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Fact Families (Addition & Subtraction) Name: Answer Key
Deter mine which letter best representsthe missing fact from the fact family. Answers
1) 1+23=24 2) 186 + 250 = 436 3) 7+12=19
23+1=24 250 + 186 = 436 12+7=19 1. _ B
24-1=23 436 - 186 = 250 19-7=12
24-23=1 436 - 250 = 186 19-12=7 2 B
A.25-23=2 A. 250 - 436 = 186 A.12-19=7
B.24-23=1 B. 436 - 250 = 186 B.31-7=24 3. C
C.24+23=47 C. 436 - 186 = 186 C.19-12=7
D.2+23=25 D. 437 - 250 = 187 D.8+12=20 4 A
5. D
4) 87+4=091 5) 265 + 304 = 569 6) 17+2=19
4+87=91 304 + 265 = 569 2+17=19 . _ D
91-87=4 569 - 265 = 304 19-17=2
91-4=87 569 - 304 = 265 19-2=17 7 D
A.91-4=87 A. 569 + 304 = 873 A.21-17=4
B.95-87=8 B. 304 - 569 = 265 B.2+19=17 8. A
C.91-87=87 C. 304 + 569 = 265 C.20-2=18
D.91-4=4 D. 569 - 304 = 265 D.19-2=17 9. D
0. D
7) 72+10=82 8) 153+ 704 = 857 9) 17+1=18
10+72=82 704 + 153 = 857 1+17=18 n_ C
82-72=10 857 - 153 = 704 18-17=1
82-10=72 857 - 704 = 153 18-1=17 e_ D
A.72+82=10 A. 857 - 704 = 153 A.18+1=19
B.10-82=72 B. 153 + 857 = 704 B.17+18=1
C.82-72=72 C. 1561 - 153 = 1408 C.1-18=17
D.82-10=72 D. 857 + 704 = 1561 D.18-1=17
10) 47 +13=60 11) 525+ 194 =719 12) 14+5=19
13+ 47 =60 194 + 525 = 719 5+14=19
60 - 47 = 13 719 - 525 = 194 19-14=5
60 - 13 =47 719 - 194 = 525 19-5=14
A.60-13=13 A. 526+ 194 =720 A.20-5=15
B.61-13=48 B. 194 - 719 =525 B.19+5=24
C.47+60=13 C.719- 194 =525 C.24-14=10
D.60- 13 = 47 D. 194 + 719 = 525 D.19-5=14
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